
CALCULUS II - VECTORS

Vector Notation for 3-Dimensional Vector
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Magnitude or Length of a Vector:
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Vector Operations: Let and with c being a scalar. Then𝑢
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vector addition is defined by and scalar multiplication𝑢
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is defined by 𝑐𝑢
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Unit Vector:Given that is a nonzero vector, is the unit vector, also called the direction, of𝑣
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Dot Product of Two Vectors: 𝑢
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Properties of Dot Product:
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For more information, make an appointment for your course with one of our content tutors. All
appointments are available in-person at the Student Success Center, located in the Library, or
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Cross Product of Two Vectors: such that n is a unit vector𝑢
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Determinant Formula for Cross Product of Two Vectors: Suppose and𝑢
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Properties of Cross Product:
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